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61 348 Service Operations Management
Midterm Exam Answer Sheet
Short-type Essay Questions:

1. “Nowadays, it is rather difficult to find a pure good or service product”. Do you agree on this statement? Why? Why not? (3 Points)
Nowadays, nearly every product is provides a hybrid of service and good attributes. Therefore, it is rather difficult to find 100 % pure good or 100 % pure service nowadays! Even so-called “Pure Services” such as teaching or treating a patient, normally need some sort of goods to support them. To illustrate, a teacher or doctor cannot perform their services without the help of some form of materials and equipment. Moreover, they are of a need of some form of facility in which to perform their services (ex. schools or hospitals …).
2. How can Service Operation managers change a service product from heterogeneous to a homogeneous one? (3 Points)

Service Operation managers can change a service product from heterogeneous to a homogeneous one by:
· Applying strict rules and processes while producing & delivering which is enhanced by a clear stated service blueprint

· Relying more and more on technology & automation

· Aiming standardization of service products produced, processed & delivered
· Training staff responsible at all stages of the service process
3. Could you define “Service Concept”? (2 Points)

Service concept is defines the idea behind that very service product. In this sense, service concept incorporates several aspects of the service operation, including what is in the mind of the customer shaped up by experience and expectation.
4. List the five major Service Delivery Components? (2.5 Points)

The 5 major Service Delivery Components are:

· The Human component
· The Technology component
· The Material component
· The Facility component
· The Process component
5. What’s the difference between Primary & Secondary Services? (1.5 Points)
Primary service(s) are the core products offered however secondary products are auxiliary and / or optional products offered along with promairy products to create customer satisfaction, awareness among customers, customer loyalty, competitive advantage or as convenience to customers.
6. List the 4 Market Segments of Hillside Hotel. What is the Market Segment which seems to be problematic & inefficient in this very hotel? (3 Points)

The 4 Market Segments of Hillside Hotel are:
· Business Traveler (Independent) ( Market Segment A

· Conference / Meeting Groups ( Market Segment B
· Leisure Groups ( Market Segment C
· Individual Leisure Traveler ( Market Segment D
The Market Segment which seems to be problematic & inefficient at Hillside Hotel is Market Segment D!

7. For which purposes do Service Operation Managers use Variance Analysis tool? (2 Points)
Service Operation Managers use Variance Analysis tool mainly to compare deviations of actual results from previously planned objectives. Some applications of variance analysis might include comparisons of actual versus forecasted results as far as:
· Demand

· Revenue

· Cost

Are concerned.

8. Why shall Sevice Blueprints be designed for each and every activity? (2 Points)
Service blueprints shall be designed for each and every single activity to:
· Ensure quality service delivery to customers
· achieve cost effectiveness through setting certain objectives & standards
Problem Solving:

1. The following table shows the number of Guest Nights, Average Bed Price, and Total Room Revenue of Hillside Hotel for the last four years. Use these data to answer the underneath questions. 

	Year
	Guest Nights
	Average Bed Price
	Revenue
	Double Moving Average

	 
	1
	2
	(1) * (2)
	 

	
	
	
	
	

	1
	54,710
	$50.23 
	$2,748,083 
	-------------

	2
	58,960
	52.36
	$3,087,146 
	56,835.00

	3
	60,052
	53.98
	$3,241,607 
	59,506.00

	4
	61,258
	55.45
	$3,396,756 
	60,655.00

	5
	62,487
	55.74
	$3,483,025 
	61,872.50

	6
	59,630
	49.63
	$2,959,437 
	61,058.50

	7
	61,523
	50.61
	$3,113,679 
	60,576.50

	8
	64,897
	53.46
	$3,469,394 
	63,210.00

	9
	69,032
	56.15
	$3,876,147 
	66,964.50

	10
	72,589
	60.03
	$4,357,518 
	70,810.50

	11
	 
	 
	 
	72,745.17


a) Forecast demand (in Guest Nights) for the 11th year using the Double Moving Average Growth Method. (Show all necessary calculations) (3 Points)
· Total percentage change (Double Moving Average Column) = (70,810.5 – 56,835) / 56,835 * 100 = 24.59 %
· Periodic percentage change (Double Moving Average Column) = 24.59 %  / 9 = 2.73 %
· Forecasted Year 10 – 11 Double Moving Average = 70,810.5 * (1 + 2.73 %) = 72,745.17 Guest Nights
· Year 11 Forecasted Demand = (72,745.17 * 2) – 72,589 ≈ 72,901 Guest Nights
b) Now use the regression equation: Y = 1,536.84 * X + 54,061.20 to forecast the guest nights for the 11th year (1 Point)

· Year 11 Demand = 1,536.84 * 11 + 54,061.20 ≈ 70,966 Guest Nights
c) Use the regression equation Y = 0.55 * X + 50.71 to estimate the Average Bed Price (ADR) for the 11th year. (1 Point)

· Year 11 Average Bed Price = 0.55 * 11 + 50.71 = $ 56.76
d) Now calculate the Total Room Revenue (do not forecast) for the 11th year using the above results found from parts b) & c). (1 Point)
· Year 11 Total Room Revenue = 70,966 * 56.76 = $ 4,028,030.20
2. Hillside Hotel’s Food & Beverage Manager wishes to establish a quality control program for the time taken by servers to prepare Lepoque for operation . He thinks that trained & skilled employees should be able to do the set up work more efficiently & effectively. But, at the same time, he is worried about the quality of the set up of tables conducted by servers. He decides to observe the productivity (measured here as function of the number of minutes taken to set up a standard table at Lepoque Restaurant) of employees. Using five different samples taken during the weekdays, he has managed to collect the following data:

	Sampling Day
	Average Set Up Time
	Range (Highest - Lowest)
	# of observations

	 
	(Min)
	 
	

	
	
	
	

	1
	6.5
	0.78
	7

	2
	7.25
	0.52
	7

	3
	5.25
	1.26
	7

	4
	6.95
	0.64
	7

	5
	7.60
	0.93
	7


a) Calculate the Average Sample Mean (ASM). (1 Point)

· Average Sample Mean = (6.5 + 7.25 + 5.25 + 6.95 + 7.60) / 5 = 6.71 Minutes
b) Calculate the Average Range. (1 Point)
· Average Range = (0.78 + 0.52 + 1.26 + 0.64 + 0.93) / 5 = 0.826 Minutes
c) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the R-Chart. (1 Point)

· R-Chart Upper Control Limit (UCL) = 1.92 * 0.826 = 1.5892 Minutes
· R-Chart Lower Control Limit (LCL) = 0.08 * 0.826 = 0.06608 Minutes
d) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the X-Chart. (1 Point)

· X-Chart Upper Control Limit (UCL) = 6.71 + 0.42 * 0.826 = 7.05692 Minutes
· X-Chart Lower Control Limit (LCL) = 6.71 - 0.42 * 0.826 = 6.36308 Minutes
e) Draw the R-Chart. (2 Points)
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f) Draw the X-Chart. (2 Points)
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g) What would you comment (i.e. Infer) from the findings of the R & X Charts? (2 Points)

The Food & Beverage manager at Hillside Hotel was right that the Set Up  process was out of control. In fact, the X-chart shows that the ASM of Set Up time has deviated above the upper control limit (UCL) as well as the lower control limit (LCL).
 As far as the R-chart is concerned, it shows that the process is in control. (i.e. The range or difference in time taken to set up each table between the lowest and highest has not exceeded the limits).
From the above charts, the follwing might be concluded:
· The average time taken per employee to set up each table is far above the expectation (X-chart) but there is no difference in Set Up time variance between employees on the same day!
· This might suggest that employees, on the same day, responsible for setting up tables at Lepoque Restaurant have received similar training, and or possess similar skills on setting up tables.

· Therefore, Food & Beverage manager shall concentrate on retraining the whole group to a certain minimum standards as far as setting up standard tables is concerned!
Good Luck!
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